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|R3.11.4 4 |aE—nvy ki (0BRSS 1,430 50 715 0 0 0 0 0 0 715 0
fRa. 115 5 |[smmmmmar (#z50 1,100 50 550 0 0 0 0 0 550 0 0
R3.11.10| 6 |gimife cammim 11H4) 3,400 100| 3,400 0 0 0 o 3,400 0 0 0
Re.11. 100 7 |wmr (A 1184 4,000 100] 4,000 0 0 0 o| 4 000 0 0 0
R.11.10] 8 |wimare Grswsm 11As) 3,400 100} 3,400 0 0 0 o| 3400 0 0 0
Tra 10l 0 [y r=Hoy EorammE mEr 660 100 660 0 0 0 0 660 0 0 q
Re.11.10] 10 [mu—xft 1184 134,200 50| 67.100] 67,100 0 0 0 0 0 0 OF
Fo0 o
ra.11.10| 11 lozi7 " " 8.200m  10/1 6,520/ 22 987 50| 11,403] 11,403 0 0 0 0 0 0 0
10/10 8,267M
B (9F28)
R3.11.10| 12 f(&%ﬁ'l:tii&?ﬁﬁ#i#%&éﬁ%ﬂiﬁw 5,500 100] 5,580 5.580 0 0 0 0 0 0 0
=)
BER (9R3A) _
Rt 10] 13 (B GRIR) oty 5.560| 100} 5.560] 5 560 0 0 0 0 0 0 0
RII10] 14 |W&mEERE (984 12, 257 5oi 6,128 0 0 0 0 0 ol 6 128 0
RO 11| 15 |SEEAKM - TAEE 1085 1,526 50F 763 0 0 0 0 0 763 0 0
Ra.11.22| 17 |SEFBER (1AM 27.649] 50| 13 824 0 0 0 0 o| 13 824 0 of
Ra.11.26| 18 |mEE - » v riEmE (0B 9.020{ 50| 4,510 0 0 0 0 0 ol 4 510 q
R3.11.20) 19 |ae—my—zf& (118D 15,120 50| 7.560 0 0 0 0 0 o| 7.560 0
At 355, 229 202, 083] 112, 113 0 0 ol 15.420] 15,137] 18.913] 40,500
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R3.12.1[ 1 g%ma #®SMAMBBL00R X4 | 54 0501 50| 37, 000 0 0 0 0 0 0 ol 37.000]
R3.12.3| 2 laE—nmmy kit (1AERS 1.442) s0| 721 0 0 0 0 0 0 721 0
R3.12.8| 3 |msmirime 3.520 50| 1.760| 0 0 0 0 o| 1,760 0 0
RL.12.10| 4 |BBRABAR (REvFIC1Y) 70| s0| a0l 0 0 0 0 0 0 350 0
R.12.10| 5 |FEAK (HEHE 1285 3.400] 100| 3, 400| 0 0 0 of 3 400 0 0 0
RA.12.10| 6 [#FBARC (B&E 12H4) 4,000{ 100 4.000| 0 0 0 o| 4, 000 0 0 0
R..12.10| 7 SR GREEER 1289 3, 400| 100 3,400' 0 0 0 of 3,400 0 0 0
Rz 10| g [RYPYATY EIRINER KR sco| 100| 650 0 0 0 o 60} 0 0 0
RL1Z.10| O |my—z#t 12R% 134,200 500 67.100] 67,100 0 0 0 0 0 0 0
Fyy i
Ra.12.10| 10 [1o/21 ~10,660m - 10/28 - 8.851m | 40,219| 50| 20.108] 20 109 0 0 0 0 0 0 0
11/4  11.680M. 11/15 9,018

R3.12.10| 11 |ssmiEmme (1084 13.274| 50| 6.637 0 0 0 0 0 o| 6 637 0
R3.12.14| 12 |kl - TAEK (1B 1,596| 50| 763 0 0 0 0 0 763 0 oi
R3.12.20| 13 |@SEBEAL ({EBD1004) 9,990} 100| 9,990 0 0 0 ol 9 990 0 0 0
Re.12.21| 14 |EEFmESRL (1285) 31, 859 sol 15, 920 0 0 0 0 o| 15. 920 0 0
RS.12.27] 15 |R5E - kv FERY (11H%) 9, 069 50F 4,534 0 0 0 0 0 o| 4534 0
R.12.27| 16 [oE—Hy—2& (12850 15,120] 50| 7. 560 0 0 0 0 0 o| 7 560 0
| 0 0 0 0 0 0 0 0
o 0 0 0 0 0 0 0 0
Ak 346, 379 183,913] 87,209 0 0 o] 21,450 18,4521 19,802 37,000

I
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CELEDS
1A% 1A% [ B & %]
(BEA7 : )
AL 5B HEME (RUOAIR}
%AR |%uE RIS - ik e i .
alid {94) HEARR 3 2 4 SR LR igﬁg WEFRR | RHEAR | ®HHR EER A3t
FRRTHA GFHE~ ) |
Bz 1 R et hmaoms | 28 80| 100] 26,840) 0 0 of 28,840 0 0 0 0 0
|re.12.3 2 fwmmammas (Fxx) 1100 o] ss0 o 0 0 0 0 of -~ 8550 0 0
RL1210( 3 |mHRESIEAS <LRHEHAR 767 90|  6f 0 of 690 0 0 0 0 0 0
GRS A = (HERR -
g2y 4 |BREIRSE 14,000 90| 12,600 0 0| 12600 0 0 0 0 0 0
Re.1.5| 5 [MEWA ESOAMBMEIORXTT | 97 000 50} 38,500 0 0 0 0 0 0 0 0| 38,500
RA1S| 6 |mmmssi (120MX0E) s60[ oo 324 0 of 3% 0 0 0 0 0 0
AR A HERIL
RA.1.5| 7 |AF3%1.000% 18, 600R 20,460 00| 18,414 0 0| 18414 0 0 0 0 0 0
W3R, B60F
EREIAR @K - LA7D MR
Re.1.5] 8 [EREIAS EE- L 110, 440{ 90| 99,396 0 o| 99,306 0 0 0 0 0 of
RA.1.6 9 |aE—no> it (2BHRS) 1430 50| 715 0 0 0 0 0 0 of 75 q|
FHTHRBAR .
RA1.6| 10 | (KoL himr—mma—t— suv | 1,006 50| 998 0 0 0 0 0 0 of o8 0
Ta, ZFAN, HLTF—T)
LIRS
RA.1.7| 11 |EnRI - 18,1008 %iBAsA - 17,1008 | 407,085( 90| 366, 349 0 0| 366, 349 0 0 0 0 0 0
EMRIL « $RaA407, 055F (pimisesear, 005m)
[Ra. 1. 10| 12 |®smm o7 < LIEAR 220 50| 110 0 0 0 0 0 0 of 110 0
RA 11| 13 |Baf CRFHE 1A% +C13:019 3,400| 100] 3, 400] 0 0 0 0 0| 3,400 0 0 0
RA1.11) 14 [m8i (242 185D 4,000 100 4.000' 0 0 0 0 0| 4,000 0 0 q
RA.1.11| 15 lmmae comsm 185 3,400| 100] 3, 40| 0 0 0 0 0| 3,400 0 0 q
RAI11| 16 {2y beAUY EUxmmm meie| 60| 100]  eeof 0 0 0 0 of 660 0 0 0
RALTI[ 17 [Eu—zit 1A%, 134,200 50| 67, 100] 67,100 "0 0 0 0 0 0 0 0
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588 |#mm RIEHBAR - 8 HHA kg
w3 (96). pEak | mex | emr | mEmmk | ZA0R | guemk | Rema | seERk | oemr | oAew
Hu U A
[a101) 18 (7200 sam 1o oomm | 21.4%6] 50| 10718 10718 0 0 0 0 0 0 0 0
|R4. 1.11) 19 |EFBaEsEmAy (1AM 3,642 501 1.7H 0 0 0 0 0 0 o 1.77 0
BiEft (115258, 278) '
|R4. 1.11{ 20 IBEE R So 78— & S O 5,210¢.1001 5,210 0 0 0 5,210 0 0 0 0 0
maft (11A2ke) .
IR4.1.11 21 LIRS R o/ 8 & RS OIS 10,700] 100] 10,700 0 0 0 10,700 0 0 0 0 0
BER (10A318, 11528)
IR 1.11] 22 |BEEARE 4,730T 1004 4.730] 4.730 0 0 0 0 0 0 0 0
WEFLARDEE BRFRE .
BIEAE (11548) .
R4 1.11| 23 |EAsEmXrBEAE/MER: - IR/ 5,560 100] 5.560] 5,560 0 0 0 0 0 0 0 0
R R -
BER 8,100 (1ATAREL) 7%
R3.11.7| 24 BRI ERBSICRATEE 8,100 1001 8.100f 8 100 0 0 0 0 0 0 0 0
EER (1MATA
R4.1.11] 25 |RIRERS - HF~OFHEAS 5,660] 100] 5,560] b, 560 ] 0 0 0 0 0 0 0
METULLAHNMNERE BRFRE
|R4. 1.13| 26 |BHFiAE « FHRER (1285 1,526] 50 163 0 0 0 0 0 0 763 0 0
ERFIAS @AY
|R4. 1.13] 27 [ s 73, 600/ 73,600 90| 66, 240 0 0| 66,240 0 0 0 0 0 o|
|R4. 1.24 28 \@®HEHEEL (12A5) 40, 225 50i 20,112 0 0 0 0 0 0 20.112 0 Or
|R4. 1.26( 29 |®BEE -+~ MEA® (12BH) 9,156 50' 4,578 0 0 0 0 0 0 0] 4,578 0
|R4.1.27 30 [aE—#y—2 1AM 15,120 50 7,560 0 0 0] 0 0 0 0] 7,560 0
] 0 0 0 0 0 0 0 0 0
of 0 0 0 0 0 0 0 0 0
AR 1,013,793 197, 648] 101, 768 0f 564,013 44,750 O 11,460 21,425| 15,732 38,500
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5 (%) mEAER | weR sir | mser | TR | gnpaw | msuax | smEk | oswR AR
R12.31) 1 |EmmEmRar (#rEY) 1.100] 50 550 0 0 0 0 0 550 0 0
Re.1.28| 2 |mmmsmmas (Fx5) 1,100] 50 550 0 0 0 0 0 550 0 0
Ra.2.1| 3 f,g”"’mﬁ (I AMEHEI000M X718 | 51 o0l 50| 35, 500 0 0 0 0 0 0 o| 35,500
R4.2.7| 4 |mEe—nwy rit (BERD 5,551| 50| 2,775 0 0 0 0 0 o| 2775 0
R&.2.10| 5 |wmmemmmm 2R 3.400] 100| 3, 400 0 0 0 o| 3400 0 0 0
R4.2.10| 6 |wmme (mg 284 4,000 100] 4. 000 0 0 0 o| 4 000 0 0 ol
Ra.2.10| 7 |wmmee (HEEmM 284 3. 400] to0] 3 400 0 0 0 o| 3. 400 0 0 ol
Re.2.10| 8 |rwresoy EvizuamE muk 660 100 660 0 0 0 0 660 0 0 q
RA.2.10| ¢ |mu—zi 284 134,200 50| 67.100] 67,100 0 0 0 0 0 0 o
Hou s
rRa.2.10| 10 [12/16 9.322m 1225 11.130m | 32.162| 50| 16,081] 16 081 0 0 0 0 0 0 q
/7 1, 710m '
Ra.2.10| 11 |EwmEmme 1289 3,578 50| 1.789 0 0 0 0 0 of 1,789 0
RA.2.10| 12 [ cxmmEamr 128278) 5.560| 100] 5.560] 5.560 0 0 0 0 0 0 0
IR4.2.15 13 |mmmiks . FaER B i,526| 50 763 0 0 0 0 0 763 0 0
|R4.2.15 14 ﬁ’*”*’“’“”’“ﬁ*" RIFI0A~I12A | o 400| 100| 8. 400 0 0 0 o| 8,400 0 0 0
|R4.2.22 15 |SHHERK QAN 40,630] 50| 20,315 0 0 0 0 o| 20.315 0 0
[ra.2.28| 16 |miz- 2w rams 0ms 8,005| s0| 4 497 0 0 0 0 0 o| 4 497 0
Re.2.28| 17 |ce—u—=i AWM 18,120 50' 7, 560 0 0 0 ol 0 o 7.560 0
R&.2.28] 18 |enFac—mmmAk 1,300 0] 660| 0 0 0 0 0 0 660 0
Akt 341. 702 183,560] 88, 741 0 0 o| t19.860] 22,178] 17.281] 35,500
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[-ThE EHE {ERRE (FEEONRR)
£A8 |wpm RUEBOBAR - ER THIE g*g”%

ol : (%) BETER | EHR amr | mwmmw | ENEE | wnpan | wesar | wEE | sEn ABR
[Ra.210] 1 |mmie eammme 1mea~7m) | 22,000 100 22 000f 22,000 0 0 0 0 0 0 0
[Ra.2.25| 2 |ssmammar (xze 1.100] s0| 550 0 0 0 0 0 550 0 0
Re.3.1| 3 [HEIR BSOAMBEL00R I 73 00| s0[ 36,500 0 0 0 0 0 0 0| 36,500
R4.3.2| 4 |wmmRSmAK mEmes 1.895] 1,000 50| 545 0 0 0 0 0 0 545 0
R4.3.2| 5 |EmmEmAk BERER 1630 so| 815 0 0 0 0 0 0 815 0
R4.3.2| 6 |RBRREAR 1Loh—FUuy 1.860] 50| 930 0 0 0 0 0 0 930| 0
RA.3.8| 7 |ar—hmy Mk QAMRS 1430 so| 715 0 0 0 0 0 0 715 q
[re.3.10] 8 |mmtecurmm 3as) 3,400| 100] 3, 400 0 0 0 ol 3 400 0 0 ol
|R4.3.10 0 |gime (BE 3B 4,000 100] 4 000 0 0 0 o| 4 000 0 0 ol
|R4.3.10 10 |srmafe (Gessmm 3840 3.400] 100 3, 400] 0 0 0 o| 3,400 0 0 0
|R4.3.10 1 [&” heAVL ESRRAMMER W 660 100 seol 0 0 0 0 660 0 0 0
[Ra.5. 10| 12 |my—zi 2m% 134,200 50| 67.100] 67,100 0 0 0 0 0 0 0

Uy
IRa.3.10| 13 11725 5 790m 1730  11,055m 36.805] 50| 18. 447 18, 447 0 0 0 0 0 0 0
2/7 10,020 2/13 10, 030
[re.3.10] 14 [wmizmmn cpsm 3,608 50| 1,849 0 0 0 0 0 o| 1,849 0
|R4.3.10 15 ﬁ;ﬁ (BIRBEASEHE 1A6E~T 5,950 100] 5.950] 5,950 0 0 0 0 0 0 0
[Re.2. 10| 16 "Ea;"é”’t (FTRER=ATEEDLE (A1 [ 4 000] 100] 8.000] 8,000 0 0 0 0 0 0 0
R4.3.10| 17 |moms @msmirewEs 18198) 7.000] 1000 7.000] 7. 000 0 0 0 0 0 0 of
Re.3. 10| 10 |EmmEm mEds 1.000( 50| 500 0 0 0 0 0 0 500 o|
R4 3. 15| 20 |Swmsmakd - FAoE QA% 1,526 50| 763 0 0 0 0 0 763 0 o|
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£A8 |wmm REHANE - i T bl . .
Laied (%) wEGER | FER ain | momee | SRR | garnn [ enpan | swmr | sEr AR
|R4. 3.22] 21 |MERESL A 41,844 50] 20,922 0 0 0 0 0 0 0| 20,822 0 4l |
BERRBAL (TAFoE—EE X
|R4. 3.24] 22 Ti?—;';—ZZK BEF—T) 2,000 500 1.000 0 0 0 0 0 0 0 0 1, 000 i |
ﬁ 3.28| 23 |BE - v MERAM QAM 8,998 50' 4, 499 | 0 0 0 0 0 0 0 0 4,499 9
IR4. 3.28)] 24 |ar—u—x4 (3AS) 15,120 50’ 1. 560 0 0 0 0 0 0 0 o] 1. 560 0
FaAoa o EM#EER (FEHEFHiVvay
[Re.3.28) 25 |EA 1 STBIRE KBTS 19.800{ 90 17,820 0 0 of 17,820 0 0 0 0 0 0
IR4.3.28| 26 [RBB&ELGE  (B4F1x66:H) 5,544} 90 4,989 0 0 0 4,989 0 0 0 0 0 0
' 0 0 0 0 0 0 0 0 0 0 0
_ 0 0 0 0 0 0 0 0 0 0 0
A 405, 145 239, 914] 128, 497 0 0f 22,809 0 O 11,460 22,2351 18,413[ 36,500
L3 5, 803, 467 3, 797, 189'1, 254, 459 30, 000 01,221,020 44,750 0| 286,499 200, 7241 263, 737} 456, 000




